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Code No.

T 4. wlenel Hie H ITYEH 5 TGI8
Roll No. W 3av ford |

Candidates must write the Code on the
title page of the answer-book.

o YA T F T foh 38 Y- H Yiga I8 11 ¢ |

o TH-UF H Tfed FY I AN feu T Hig TR HI B IW-YETH o6 @I85 W
g |

o FHUI I A foh 30 TG H 32T E |

o HUAT T I IW TEHT & K ¥ UgeA, T T THHTeh A9 T |

o T THUA I Ugd % fIW 15 e o1 wve o T g | - Rl foa qatg
T 10.15 &1 TR ST@ | 10.15 S91 & 10.30 SIS I B hddd JIH-UF i TeTl
3T 39 AT & R o IT-YfEdh! T g I a1 fore |

e Please check that this question paper contains 11 printed pages.

e (Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

e Please check that this question paper contains 32 questions.

e Please write down the Serial Number of the question before
attempting it.

e 15 minutes time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the

students will read the question paper only and will not write any answer on
the answer-book during this period.

AT

ECONOMICS

FEiRa 77 : 3 T2 37ferhad 37 : 100
Time allowed : 3 hours Maximum Marks : 100
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G) gl @vel & @4t yeT AT & |
(i)  FAF F97 & [HYRT 37 399 qrad Ru 1@ & |

(iii)  F97 G&IT1 -5 77 17 - 21 371a TFHIHS F97 &, 5779 J% &7 1 375 8 |
59T Yo &1 I Uk FTaFT § 57 3957 8 |

(iv) 97 T&IT 6- 10 37K 22 - 26 TGHIHF 97 &, 978 J9% & 3 3% & |
Tl H I GIHTT: 60 ¥sg] @ 37fer 751 T =y |

(v)  T97 G&IT 11 - 13 37K 27 - 29 4} TGHIHH 97 &, 577 J4% & 4 37% & |
eI & I GIET=TT: 70 V5G] & 3 T8 571 08T |

(vi) 397 &I 14-16 3K 30 - 32 FEIIHF I aIct J97 &, 1975 I9% &
6 7% & | I8% T I GII=a: 100 II5E @ 379 757 5471 F13T |

(vii) RIS (*) Jo7 GTeThRa 397 & |

(viii) I GG TIT TeIIcHF &4 TRT TIT IqEIYT FHR & T8 diar & Tt &
137 S =18 |

General Instructions :

(i) All questions in both the sections are compulsory.
(it)  Marks for questions are indicated against each.

(iti) Questions No. 1 -5 and 17 - 21 are very short-answer questions carrying
1 mark each. They are required to be answered in one sentence each.

(iv)  Questions No. 6 - 10 and 22 - 26 are short-answer questions carrying
3 marks each. Answers to them should normally not exceed 60 words
each.

(v) Questions No. 11 — 13 and 27 - 29 are also short-answer questions
carrying 4 marks each. Answers to them should normally not exceed
70 words each.

(vi) Questions No. 14 - 16 and 30 - 32 are long-answer questions

carrying 6 marks each. Answers to them should normally not exceed
100 words each.

(vii) Questions marked star (*) are value-based questions.

(viii)) Answers should be brief and to the point and the above word limits
should be adhered to as far as possible.
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SECTION A

*1,  3IcAIGT GHAT o HeH H e < fowar & e S1ide You 1 AW Sarsy | 1

Name the economic value achieved through the spread of education in
the context of production potential.

2. Hura Iwfiar it gt i | 1
Define marginal utility.
3. ToRr arml & @ 35w g | 1

Give two examples of fixed costs.

4.  F& 1 qfd % “Ged” 1 Th SRV FAT3W | 1

Give one reason for “decrease” in supply of a good.

5.  3ded 94 T 3Nad for A o= ged) 8 2 1

Why does average fixed cost fall with increase in output ?

6. A 3R B YR a&q¢ & | A Sl HWd § gig % B H AT W TAE hH
T HINT | 3

Ao
"1 6 “gGfg” & freel 31 Rl 1 STE HIT |

A and B are substitute goods. Explain the effect of rise in price of A on
the demand for B.

OR

Explain any two causes of “increase” in demand.

7. qid 9%k % afs AR fawend & fohgl QI Rl 1 =Amen HNT | 3

Explain any two causes of a rightward shift in supply curve.
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AT (3hTEAN) 1|21 31| 4] 5|6

T @ () 13| 9| 8 |10 | 15 | 17

Calculate average variable cost at each level of output :

Output (units) 1 2 3 4 5 6
Marginal cost () 13 9 8 10 | 15 | 17

9. U I i A 10 Taed Sg4 F ITh! gfd 150 FHIE & Tt 180 THIS &
STt & | SHeh! Gl ohl ShIHd @I ol TRehai hifaT, | 3

10 percent increase in the price of a good raises its supply from 150 units
to 180 units. Calculate its price elasticity of supply.

10. ‘TR 3cATeA Rl hi THET T 379 it & ? AHeS | 3
Why does the problem of ‘what to produce’ arise ? Explain.
11.  TH U IRt ST9R 61 g fomvand sqmsg, | 4

State the main features of a perfectly competitive market.

12. T IUNIRKI hadl g I3 1 UYLl 3 IR dqe § 7 | femmse %
&g <l hma TR A H faudia gy gar @ | STt foweryor i wEwar 9
REEIEN 4
A consumer consumes only two goods and is in equilibrium. Show that
price and demand for a good are inversely related. Explain using utility

analysis.

13. T 10 9l $hT5 s hTd T Teh g%q hl AT AEAT 1500 3H1S 8 | SHehI [T i
T A (<) 1-58 | e 3Heh! hiFd =t T 8 Uid $h18 & STdl &, dl 3Hehl
T A fehat Bt 2 aftehe Shifse | 4

YT
AT <hl AT AT ol Uehad i <hl SamHd fafer it samean i |
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demanded, when its price falls to ¥ 8 per unit.

OR
Explain the geometric method of calculating price elasticity of demand.

14. TH 9%g < q[d STIYE 1 37 TS 7R 38k a%q hl hiAd, AT 3R d
TR WAl i TEe i AT T | (RIS 1 = i) 6

Explain the meaning of excess supply of a commodity and its chain of
effects on price, demand and supply of the commodity. (use diagram)

e : ETfeTiad 97 Fac giggia ahemiaal & forg Jo7 G&3r 14 & T W& |

Note : The following question is for the Blind Candidates only in lieu of
Q. No. 14.

T %] % (d SUF HT 31 AHAIY IR $Hh qE I A, T HR Gl
T WAl i T@E i ST hIT | (TR T TART HifT) 6

Explain the meaning of ‘excess supply’ of a commodity and its chain of

effects on price, demand and supply of the commodity. (use a schedule)

15. 3cdTed o fohd TR W 3IcUTeeh Fgad hi feafd § g 2 3199 I & fo7w s

AT | (g s SR Hmea rm (wwte) fafer o s Hifse) 6
3cqTe (3hTEaT) 1 2 3 4 5
$A M (FuTH) (T) 6 | 12 | 18 | 24 | 30
Fd A () 7 | 13| 18 | 24 | 31

At what level of output will the producer be in equilibrium ? Give
reasons for your answer. (Use marginal cost and marginal revenue

approach)
Output (units) 1 2 3 4 5
Total Revenue (3) 6 12 | 18 | 24 | 30
Total Cost (¥) 7 13 | 18 | 24 | 31
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Teh ITTHT %qmaq%géﬁao‘rwﬁﬂﬂm% | ST forveiwor i wgrRa §
YRR o T ! SRS HIWT |

Explain consumer’s equilibrium with the help of indifference curve
analysis.

OR
A consumer consumes only two goods. Explain consumer’s equilibrium
with the help of utility analysis.

Qus o
SECTION B

17. Y 3Icurg i gfieamr S | 1
Define national product.

18.  3IUWNT &gl shi g €T | 1
Define consumption goods.

19. TCHH S A1 a1 8 2 1
What is a government budget ?

20. ITIIF HU < T ISR ST | 1

Give two examples of indirect taxes.

21. GEfy J9Q =1 Fidl @ 2 1

What are time deposits ?

22. 3IHd S9d Ygfd H1 A FAY | NHd ITHN T 6 Y FHHT T qEY
2IAT 8 ? 3

Give the meaning of average propensity to save. What is its relation
with average propensity to consume ?
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Explain the meaning of investment multlpher. What can be its

minimum and maximum value ?

24. YTAH g @Id % 96 @A 3R YSd @d § b el % IR W AS
IR | 3

Distinguish between current account and capital account of the balance
of payments account on the basis of its components.

25. 3T & Tshi¥ YaTg hl =TT HifSu | 3
Explain the circular flow of income.

26. g % Hod HIF HE hl AT HINT | 3
3reraT

“OThR o TR’ o Y H hrgd sieh hi YfHERT hi SRS HIVT |

Explain the ‘store of value’ function of money.

OR
Explain the role of central bank as a “Banker to the government”.

27. TfafEa stiws 9 “@re ara | e qea g4y 1 Iieha i 4
(& @l §)
(i)  weIad! JUH 300
(i) T | gfEdd 50
(i) Taa T 70
(iv)  Terhl 500
(v)  oT9d Yoft T ITHMT 20
(vi) 3ATd 40
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(ii)
(iii)
(iv)
(v)
(vi)

Intermediate consumption
Change in stock

Net indirect taxes

Sales

Consumption of fixed capital

Imports
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’ Bfgaérﬁd?lf C%?géé)r{
(T in Lakhs)
300
50
70
500
20

40

28. aIfufsys % @ fmin fea y&R +d & ? T I9EW h "R |
HHATRT | 4
AT
Gl IT9R o HREHATT 1 A THARY | F4d 5o Gal g 1 FREG[ HE *
fTT ST T 8 AT 7 ?
How do commercial banks create credit ? Explain with the help of an
example.
OR
Explain the meaning of open market operations. How is it used by the
central bank to control money supply ?
*29, Hrold o fagsht ggr il Hma g4 W FRE e % folu sen I3 B |
THSY 3TH -4 3T Yo WA g Sl Toh 3TH EH] & FVal-4d & | 4
The central bank takes steps to control rise in the price of foreign
exchange. Explain the economic values it involves as far as the common
man is concerned.
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G) Tt &3 = wres ara | 9

< 3IcaTg | AN T
) T
(i) foger @ faa wrw om
(iv) Hes™

(v) fsft Frfia & < ==

(vi) EThHR T =Te] FdTaion

(vii) TFH R0 9 AT

(viii) 9NET grT feu T weae s

(ix) faeer =t frae e s
arerat

TY 3T 1 Uieha hITT

() Traa i e fmio
(i) HRN AT 3q9 =2
(i) foesm @ faa wrs o=
(iv) Teft sifea Suvm ==
(v) IR

(vi) Taa fria

(vii) Treoa sTIcae ot

(vii)) 9 foava & faa =me gearaw
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(T ®gl 7)

700
40
(-) 20
50
150
80

60

70

(-) 10

(T #isl H)

150

300

() 20
600

30

50

90

40
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(T in Crores)

1) Net domestic product at factor cost

accruing to private sector 700
(i1)  Corporation tax 40
(iii) Net factor income from abroad (=) 20
(iv)  Depreciation 50
(v)  Savings of private corporate sector 150
(vi)  Current transfers from government 80
(vii) National debt interest 60
(viii) Direct taxes paid by households 70
(ix) Net current transfers to abroad (=) 10

OR

Calculate national income :

(< in Crores)
(1) Net domestic capital formation 150

(ii))  Government final consumption expenditure 300

(iii)  Net factor income from abroad (=) 20
(iv)  Private final consumption expenditure 600
(v) Depreciation 30
(vi)  Net exports 50
(vii) Net indirect taxes 90
(viii) Net current transfers from rest of the world 40

Bjggoee Visit www ncer hel p.com ForjiAl | Vi deos Lectures of all Subjects



%{MQEBIE SaanSIIBT gﬁigéﬂ%%s | rgﬁlzgopr_?@r%lgl 'I\Nloct:iF\;T FSL,')OrI uCt:Iiaosnss’G to 12
(9) Uuh Irefeyaeen & SR H fQu Mg ffaRed sAiesi @ sEeh I %
Hqfetd TR T I hITTT 6
() Hu IR YER = 05
(i) T ITHA = 300

(ii) fraw 6000

(a)  Distinguish between autonomous consumption and induced

consumption.

(b)  From the following data about an economy, calculate its

equilibrium level of income :

(i)  Marginal propensity to consume = 05
(i1) Autonomous consumption = 300
(iii) Investment = 6000
32. Tr=fafea & wg Hifm 6

(31) TS et SR gSiTa e

() TS =TT 3R TSh NI =TeT
Distinguish between the following :

(a)  Revenue receipts and Capital receipts

(b) Revenue deficit and Fiscal deficit
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